Mathematics – Algebra EOC

Curriculum Development and School Improvement- Secondary

MA.912.A.7.1 – Worksheet 1



Name:  ______________________________________ Date:  ____/____/____ Period:  _______

1.  Which of the following is the graph of the equation
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A.  [image: image2.png]



C.  [image: image3.png]



B.  [image: image4.png]



D.  [image: image5.png]



2. Which of the following equations shows the graph below?
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3.  What is the y-intercept of the equation
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4. Which of the following is the graph of the equation
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A. [image: image17.png]



C.  [image: image18.png]
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D. [image: image20.png]
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